Chapter 5 Sections 5.1– Even Answers (Mostly!)
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Section 5.1

Class Exercises

1.
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9. sec, tan; none; cos, cot
10. 1134 ft
Section 5.1

Practice Exercises
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14. 11.7 ft

16. Rectangle when the 

congruent triangles have 

equal opposite sides.

Square when the triangles 

are congruent & isosceles. 

Trapezoid never.

18. Let x be the adjacent 

side and y the opposite. 

Let the hypotenuse be r.

20. sec, csc, tan, cot all 

have denominators which 

can go to zero…

22. 28,434 km

24. 41o
26. Parallelogram when 

the hypotenuses of congruent 

triangles are parallel. 

Isosceles Triangle when the 
congruent triangles have 

adjacent hypotenuses.
28. 704 ft 
30. 191.8 ft


32. 33.4 in.


34. 28.5o


36. 19th parallel


38. 136 cm


40. 9 cm


42. no


44. 1798 ft





Review 5.1


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. � EMBED Equation.DSMT4  ���


4. true


5. false





Section 5.2


Class Exercises


1. 25o


2. 24


3. 15.2


4. 30o


5.� EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


7. � EMBED Equation.DSMT4  ���


8. � EMBED Equation.DSMT4  ���


9. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


11. yes, c = � EMBED Equation.DSMT4  ���


               = � EMBED Equation.DSMT4  ���


12. 116 yd


13. no





Section 5.2


Practice Exercises


2. 161


4. 581


6. 23


8. 98








10. 71o, 75, 124


12. � EMBED Equation.DSMT4  ���


14. � EMBED Equation.DSMT4  ���


16. � EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


20. 68 ft


21. The ratio of a side to the sine of its opposite angle is the same for all sides of a triangle.


22. AA(A) yields similar triangles only.


24. 48 ft


26. 9 in


28. 156 ft


30. 218 yd


32. isosceles triangle with vertex, � EMBED Equation.DSMT4  ���


34. � EMBED Equation.DSMT4  ��� and 


� EMBED Equation.DSMT4  ���.


By the Law of Sines:


� EMBED Equation.DSMT4  ��� hence…


� EMBED Equation.DSMT4  ��� and… 


� EMBED Equation.DSMT4  ��� QED


35. Cross-multiply the Law of Sines to get: 


� EMBED Equation.DSMT4  ���. Now cross-multiply the given proportion to get � EMBED Equation.DSMT4  ���


The  � EMBED Equation.DSMT4  ��� cancels to give us an identity.


36. Cross-multiply and cancel terms to get 


� EMBED Equation.DSMT4  ���


or � EMBED Equation.DSMT4  ���


and see #35 above.











37.


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���pt � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ��� hence: Law of Sines.


38.� EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ���


The trick here is that since A&B are complementary, 


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


39. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


40. Use the theorem: 


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ��� and since r + s > t , 


� EMBED Equation.DSMT4  ���


42. 103o


44. 675 m


46. 135 ft





Challenge 5.2


1. circular


2. 2
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